T2 =7#AY 5 X (HDCP 0~12)

2025 £ 8 A 29 B (&)

BRAE BHDCP BEER: HXvFoT - H—FAR U
% T#) T+ EVOAGAEFRNSDY ET GHLUT)

NE sz BRES BOUT| ®IN |GROSS| HDCP NET ZEF NTH
B B WE S 39 39 18 12 66 AE 10

pAITS BE i 38 40 18 12 66 AE 10

31z W F=R 39 40 19 12 67 AE 11

A4z Kix Bk 41 38 19 11 68 AE 10

ofiz ma RiA 41 39 80 12 68 AE 11

641 ¥ Al 37 | 371 | 14 5 69 | AE JnXREI

1Mz A% BLH 38 38 16 1 69 AE JORE3ML

84sz HhigE REth 38 39 11 8 69 AE

9fiz Rl ZEx 38 42 80 11 69 AE

104z EHE #5 43 39 82 12 10 AE

1142 RE = 42 40 82 12 10

1241 AR Hif 40 40 80 10 10

1341 Kt FHE 39 | 40 19 9 10

144z TH =X 39 41 80 10 10

1541 ik FaL 38 | 40 18 7 A

1642 RE XRE 43 | 39 | 82 10 12

1762 wmE FC 40 | 44 | 84 12 12

184z ¥2iI —HE 45 36 81 8 13

1941 NE # 42 | 39 | 81 8 13

204z =M EH 37 37 14 1 13 JBaRE2I

214z JKH EiE 41 41 82 9 13

2241 g MK 41 43 | 84 11 13

2341 AR R 43 | 43 | 86 12 14

2441 BH 5% 47 40 817 12 15

251 R % 46 40 86 11 15

264z R NI 14 44 42 86 11 15

271z wAR Fif 43 43 86 11 15

284z R EfE 39 | 42 | 81 6 15

294z S-M 40 43 83 8 15

304z KL —XK 47 41 88 12 16

314z S5H EHE 43 41 84 8 16

3241 Wr 28 39 | 42 | 81 5 16

334z M =5 46 | 43 | 89 12 11

3441 e XX 46 | 43 | 89 12 17

354z gk E17 43 | 4 84 7 11

364z KB B 45 | 44 | 89 12 17

374z B R 46 43 89 11 18

384z R E=— 45 45 90 12 18

394z ZE EC 40 46 86 8 18

401z £k 8% 41 45 | 86 6 80
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XAk FFHDCP

BEIEG: FivxyFT - h— FAX UGN
EZ: T#) I+) IOASAEHRERNHY FF GHRHLT)

=t BEA BROUT| ®RIN |GROSS| HDCP NET ZEF NTHRTE
A4 A &X 40 | 44 | 84 4 80

4241 KHEH 8k 41 46 87 Jj 80

4311 MY BRER 46 44 90 9 81

4441 BH E 45 49 94 12 82

454 HE & 42 50 92 10 82

4641 LEE FRL 46 46 92 9 83

4741 iz ZKE 42 46 88 4 84

4841 =2 %ih 48 47 95 10 85

4941 il A 48 | 49 | 97 12 85
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